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SUB-MATHS S.T-PRAGYA
BASED ON N.C.E.R.T PATTERN
CH- Unitary Method
Example: - 1. 2 balls cost rupees 6 .Find the cost
Of 3.balls .
Solution : Cost of 2..ball =.rupees 6
Cost Of 1.ball =rupees6+2 = 3
Cost of 3 balls=rupees 3 x 3 ==rupees 9
PRACTICE SHEET
See example and solve these:-

1. Two school bags cost rupees 276 .find the cost of 88
such bags.

2. A bycicle factory produce 1505 bicycles in a week .
how many bicycle with a produce in 30 days ?

3. Mohan earns rupees 48000 in 3 months .what is his
annual income ?



4 .In hostel 120 students consume 2160 kilogram of
rice per months . How much rice will be consumed by 80
students ina month ?

5.5 buses carry 325 passengers. How many

Passengers can be carried by 8 such buses .?
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